Practice Problems 3
1.  Safeway Inc., is one of the world’s largest  supermarket chains. These selected items were adapted from a recent Safeway balance sheet (dollar amounts are in millions).

	Cash
	$74.8

	Receivables
	152.7

	Merchandise Inventories
	1,191.8

	Prepaid Expenses
	95.5

	Fixtures and Equipment
	2592.9

	Retained Earnings
	284.4

	Total Current Liabilities
	1,939.0


Instructions:

a)  Using the information above compute the amounts of Safeway’s total current assets and total quick assets.

Total current assets= $74.8+$152.7+$1,191.8+$95.5= $1,514.8

Total quick assets=   $1514.8-$1,191.8-$95.5= $227.5

b) Compute the company’s a) current ratio b) quick ratio c)  working capital (round to one decimal place).

Current ratio= 1,514.8/1,939.0= .781= 0.8

Quick ratio=    227.5/1,939.0=  0.117= 0.1

Working capital= $1,514.8-$1,939.0=  $-424,2
c)  From these computations are you able to conclude  whether Safeway is a good credit risk  for short term  creditors or on the brink of bankruptcy?Explain.

The current ratio and quick ratio of Safeway should be compared to a bench mark to be able to conclude it is not a good credit risk. However the working capital seems to indicate that Safeway has not much cash to settle current liabilities which is not a good indication for a firm.

d) Is there anything unusual about the operating cycle of supermarkets that would make you think  that they would normally have lower current ratios than say any large department stores?

Chain drugstores are like groceries and supermarkets which usually have lower current ratios because of the nature of their business. Such business usually have high merchandise inventories, and accounts payable relative to other businesses. 

e) What other types of information could you utilize in performing  a more complete analysis of Safeway’s liquidity?

Comparative analysis  of current ratios between several supermarkets can be used to have a complete analysis of Safeway’s financial status. The value is relative to the average value of current ratios between companies thereby knowing its position in the industry. Other values which would help in the analysis of the company’s liquidity are inventory turnover (measurement of the movement of inventory) and asset turnover (measurement of how efficiently the pharmacy’s total assets are used).

2.  The following data are adapted  from a recent annual report of  Walgreen Drug Stores (dollar amounts are stated in millions).

	
	2002
	2001

	Balance Sheet Data
	
	

	Quick Assets
	$1,304.7
	$815.2

	Current Assets
	5,166.5
	4,393.9

	Current Liabilities
	2,955.2
	3,011.6

	Stockholder’s Equity
	6,230.2
	5,207.2

	Total Assets
	9,878.8
	8,833.8

	Income Statement Data
	
	

	Net Sales
	$28,681.1
	$24,623.0

	Gross Profit
	7,605.0
	6,574.1

	Operating Income
	1,624.2
	1,398.3

	Net Income
	1,019.2
	885.6


Instructions:

a)  Compute the following for 2002 and 2001. (Round to one decimal place)

1.  Working Capital

2.  Current Ratio

3.  Quick Ratio

	
	2002
	2001

	Working Capital

(Current assets-Current liabilities)
	$5166.5-$2955.2=

$2211.3
	$4393.9-3011.6=

$1382.3

	Current ratio

(Current assets/Current liabilities)
	$5166.5/$2955.2=1.7
	$4393.9/3011.6=1.5

	Quick ratio

Quick assets/current liabilities
	$1304.7/$2955.2=0.44
	$815.2/$2955.2=0.28


b)  Comment on the trends in the liquidity measures and state whether  Walgreen appears to be able to satisfy its liabilities at the end of2002.

From 2001 to 2002, there is an increase in the liquidity easures. There is an increase of the working capital from $1382.3 to $2211.3. In terms of the current and quick ratio, these also increased from 1.5 to 1.7 and 1.2 to 1.3. Judging using the current ratio of 1.7, the current may have some problems in repaying their current debts however, taking into account its quick ratio of 1.3, the company may still settle its debts even if they could not sell their current inventory. Since the latter is a more stringent test of liability, we can conclude that the Walgreen can still satisfy its liabilities at the end of 2002.

c)  Compute  the percentage  changes for 2002 in the amounts  of net sales and net income (Round to one-tenth of 1 percent).

	
	2002
	2001

	Net sales
	$28681.1
	$24623.0

	Net sales, Trend%
	116.5%
	100%

	Operating income
	$1624.2
	$1398.3

	Operating income,Trend%
	116.2%
	100%

	Net income
	$1019.2
	$885.6

	Net income, Trend%
	115.1%
	100%


d) Compute the following for 2002 and 2001. (Round to one tenth of 1 percent . For items 3 and 4 , use the year end amounts stated above as substitutes for  average assets and average  stockholder’s equity.)

1.  Gross profit rate

2.  Net Income as a percentage of sales

3.  Return on assets

4.  Return on stockholder’s equity

	
	2002
	2001

	Gross Profit Rate

Gross Profit/Sales x 100
	$7605.0/$28681.1 x 100=26.5%
	$6574.1/$24623.0X100=26.7%

	Net Income as percentage of sales (Net income/sales x100)
	Before taxes

$1624.2/$28,681.1

x100%=5.7%

After taxes

$1019.2/$28681.1

x100=3.6%
	Before taxes

$1398.3/$24,623.0

x100%=5.7%

After taxes

$885.6/$24623.0

x100=3.6%

	Return asset (Net income/total assetsx100)
	Before taxes

$1624.2/$9878.8

x100%=16.4%

After taxes

$1019.2/$9878.8

x100=10.3%
	Before taxes

$1398.3/$8833.8

x100%=15.8%

After taxes

$885.6/$8833.8

x100=10.0%

	Return on Stockholder’s Equity

Net income/Stockholder’s equity x 100
	Before taxes

$1624.2/$6230.2

x100%=26.1%

After taxes

$1019.2/$6230.2

x100=16.4%
	Before taxes

$1398.3/$5207.2

x100%=26.9%

After taxes

$885.6/$5207.2

x100=17.0%


e)  Comment on the trends in the profitability measures computed in parts c and d.

There is an increase in the net sales and operating and net income of the company, which may indicate that there is an increase of the profitability of the company. There is a decrease in the gross profit rate however the percentage is still above the usual 23-24%. The net income percent, before and after taxes, remained the same.

In terms of its overall performance, there is an increase in the return assets on the year 2002 but on the same year, a decrease on the return of stockholder’s equity occurred. ROA is better indicator of a manager’s performance thus we can say that there was better performance on 2002.

3.  Assume that you will soon graduate from College and that you have job offers with two pharmaceutical firms.  The first offer is with Alpha Research, a relatively and aggressive company.  The second is with Omega Scientific, a very well established and conservative company.


Financial information pertaining to each firm and to the pharmaceutical industry as a whole is as follows:

	Financial Measure
	Alpha
	Omega
	Industry Average

	Current Ratio
	2.2 to 1
	4.5 to 1
	2.5 to 1

	Quick Ratio
	1.2 to 1
	2.8 to 1
	1.5 to 1

	Return on Assets
	17%
	8%
	10%

	Return on Equity
	28%
	14%
	16%

	P/E ratio
	20 to 1
	10 to 1
	12 to 1


The Omega offer is for $36,000 per year. The alpha offer is for $32,000. However, unlike Omega, Alpha  awards its employees a stock option bonus based on profitability for the  year.  Each option enables the employee to  purchase shares of Alpha’s common stock at a significantly reduced price.  The more profitable this company is, the more stock each employee can buy at a discount.

Show how the above information may help justify accepting the Alpha Research offer, even though the starting salary $4,000 lower than the Omega Scientific offer. 

Alpha’s offer is better than the omega because as can be seen in the table, the test for overall performance ratios (Return on Assets and Return on equity) are higher in alpha even though the liquidity ratios (Current ratio and quick ratio) are lower in Alpha than in Omega. The better overall performance ratios in Alpha indicate that the funds invested in the firm by stockholders and owners and even the debts and equity have been managed more efficiently than in Omega. In addition, the P/E ratio is higher in Alpha, meaning the stock value of Alpha shares give better returns than Omega shares. So, if you  will be employed at Alpha and given the chance to purchase shares at reduced price, you have the opportunity to cash in from the returns of the stocks you purchased at higher returns. Also P/E ratio of 20, 30 or higher indicates expected rapid earnings growth or overvalued stock.

4.  A condensed balance sheet for Bradford Pharma Inc. prepared at the end of the year 2017 appears as follows:

	Assets
	
	Liabilities and Stockholder’s Equity
	

	Cash
	$95,000
	Notes payable (due 6 months)
	$40,000

	Accounts receivable
	155,000
	Accounts payable
	110,000

	Inventory
	270,000
	Long-term Liabilities
	360,000

	Prepaid Expenses
	60,000
	Capital Stock $5 par
	300,000

	Plant and Equipment (Net)
	570,000
	Retained Earnings
	430,000

	Other Assets
	90,000
	Total
	$1,240,000

	Total
	$1,240,000
	
	


During the year, the company earned a gross profit of $1,116,000 on sales of $2,950,000. Accounts receivable, inventory and plant assets remained almost constant in amount throughout the year.

Compute the following:

a)  Current ratio

b)  Quick Ratio

c)  Working Capital

d)  Debt Ratio

e)  Accounts receivable  turnover all sales were on credit

f)  Inventory turnover

g) Book Value per share of capital stock 

Current assets= $95000+$155000+$270000+$60000=$580000
Current liabilities= $40000+$110000=$150000

Total liabilities= $40000+$110000+$360000=$510000

COGS=  Sales- Gross Margin=  $2950000-$1116000=$1834000

Current ratio=   current assets/current liabilities= $580000/$150000= 5.27

Quick ratio=  $95000+$155000/$150000=  1.67

Working capital=  $580000-$150000=  $430000

Debt ratio=  Total liabilities/Total assets= $510000/$1240000= 0.41

Accounts receivable turnover (all sales were on credit)

Inventory Turnover=  COGS/Average inventory at cost=  1834000/270000= 6.79

Book value per share of capital stock=  Shareholder’s equity/Outstanding stocks=

$730000/$300000/5= 12.17

